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Equivalent Fractions (2)

Which one is the odd one out and why?

10
50




Equivalent Fractions (2) g

Explore the equivalent fraction number sequence. Predict what comes next
and explain the pattern.
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Wihat oy Ihappened to- e numerotor ano denowinator? .
Copy uto- your book. Use a colour to- shhow- what hay happened.
K5 =3 |° = 10 = 16
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12 36 Z 2 6 48
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- f yow mudtiyply Hre denominator yow howe ncreased He nmumber of so
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| | | ommy is finding equivalent fractions.
2 =16 = iT678" 10
5 b

- | did the same thing to
the numerator and the
4 denominator so my

fractions are equivalent.

]

Do you agree with Tommy?

Explain your answer.
| | |
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Use your knowledge of equivalent fractions to solve

this problem.

3 girls share 2 cakes equally. 6 boys share 4 cakes
equally.

Who gets to eat more cake? -y ;\_t}

Draw a model or
image to support your
written explanation.

| | | | | 5| — | | | | Does the number of slices matter?
2 cakes cut into 3 would be slices. |l

___The girls would get ___ slices each. As a fraction this would be

4 cakes cut into 6 slices each would be ____ slices.

~ The boys would get __ slices each.

As a fraction this would be

| They got an amount of cake because
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What has happened to- e numerator and denominator?
Copy nto- your book. Use a colowr to- show wihat has happened.

ANSWERS:

—If yow mudtiyply Hre denominator yow have uncreased He number of

MRS F=3 Ss=10 4=10
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15 = =

20 100

=1oc = 1238

oy N

40 320

No-, becownse e hhas
added eaci tume

Unstead of multipling.

E xtevrusion
Tommy is finding equivalent fractions. =

3.5 7T 9

4 6 8 10

He says,

T fa | did the same thing to i
the numerator and the
4 denominator so my
fractions are equivalent. J -

Do you agree with Tommy?

Explain your answer.
| |
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Use your knowledge of equivalent fractions to solve

this problem.

3 girls share 2 cakes equally. 6 boys share 4 cakes
equally.

Who gets to eat more cake? P 3

Draw a model or
image to support your
written explanation.
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| | | | | | et | | | Does the number of slices matter?
2 cakes cut into 3 wou{d be __ © slices. m
__The girls would get _Z slices each. As a chtron this would be
4 cakes cut into 6 slices each would be =* slices. o
 The boys would get _%_slices each. As a fraction this would be 2% ¢

| They got an amount of cake because



